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1.  ELEMENTS
1.
(i) Non linear

(ii)  Non-linear
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      Passive
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(iii) Non linear

(iv)  Non-linear


    Active

      Active


    Unilateral
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2.
V = -10v, I = -1A
3.
5A
4.
16 Coloumbs
5.
132 J
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2.  KCL & KVL
1.
8 A
2.
E = -16v, V1 = 11v, V2 = 1v

3.
Vab = -1 v
4.
Undetermine

5.
V1 – V2 = 
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6.
Vx = -1 v
7.
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7.
32 sin 2 t
8.
Vx = 8v, Ix = 1A
9.
Iin = 23A, Is = 29.5 A

10.
I = 8A
11.
Rx = 25
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12.
Vx = -2v

13.
8A

14.
VC – VD = -5V

15.
I = 1.5 A
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19.
23 v

20.
p = 0w

3.  CURRENT DIVISION AND VASTAGE DIVISION
1.  
100 J
2.
400 J

3.
45 v

4.
11 Kw

5.
D

6.
2.4 k
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4.  SIMPLIFICATION TECHNIQUES
1.
28 V
2.
R1 = 8
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, R2 = 3
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3.
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4.
Ix = 0.25 A
5.
1 A
6.
VP – VQ = - 5.7 v

7.
V1 = -30, V2 = -9, V3 = -42

8.
V1 = 1.5, V2 = 0.5
9.
P = -3W

10.
i1 = 2.196A, i2 = 1.4107A, i3 = 2.089A

11.
i1 = 6A, i2 = 0.5A, i3 = -1A
12.
i1 = 15A, i2 = 11A, i3 = 17A

13.
0 A
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15.
Vx = 50 v
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17.
Ix = 5A, Vx = 10 v
18.
25.909 v

7.  EQUIVALENT R, L & C

1.
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[image: image11.wmf]W

3

8


3.
6 A

4.
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5.
10 mA

6.
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7.
5
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8.
50
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9.
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11.
1.6 C
12.
0.1 
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1
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14.
2A
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17.
2.8 V, 32
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8.  
POWER AND ENERGY
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